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(i)

In an Examination, 40% students fail in
Mathematics and 30% fail in English and 20% in
both. Find the pass percent,

A dealar sold two coolers at Rs. 2970 each. On
selling one cooler he gained 10% and on selling

the other he lost 10%. Find the dealer’s gain or
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loss percent.
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. 2nd Semester Pass Course W
jon 2014-15 onwards (Current Scheme)

Examination, April-2018
BUSINESS MATHEMATICS-1I
Paper-2.02

[ Maximum marks : 80

[ime allowed : 3 hours |
a.ﬂ:.... Attempt five questions in all, se

lecting one quesion

from each unit. Question No. 1 is compulsory.
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Compulsory Question
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(b) Find the adjoint of the matrix A=l3 _5
v x?+x+1 P n&|u._.
dy

(d) Ify=log(x+ Jx?-a* ) find s

(e) At what rate of simple interest will S.I ¢

Rs 9250 be 3/5th of it in 4 years 7
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4. Differentiate the following w.rt. to x
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LAk the function x*—62x*+ 120 x 9
e (b) Find the area of the largest rectangle having th
perimeter of 200 meters. ,
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(@) Aman deposited Rg
he got compound ing

for second year and 29
dmount he pot at the end

(b) The valye of Mmachinery

annually. If its present value is Rs,

its value after 4 vears.

for first year, 3%

for third year, find the
of 3 years.

depreciates by 59,
o _“PDQP find

3000 in a bank for 3 years. If
Crest at 4%,
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Find the amount of an ordinary annuty of |
monthly payments of Rs 1000 that eam s iniess
at 12% per year compounded monthly.

A man borrows Rs 6000 at 6% and promises

pay off the loan in 20 annual payments beginnii
at the end of the first year, What 15 the annu

payment necessary ?
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